
Statistics Competition 2023.

 Questionnaire checking

B - Lower secondary

1 - Basic knowledge test

Version: 1          Language: en

George and Mary are playing a game of backgammon. Towards the end of
the game, Mary notices that she needs a dice roll with a sum of outcomes
more than 7 to win the game. Otherwise, George will win the game. The
probability that Maria wins the game is:

1.

0,42A.

0,58B.

0,25C.

0,5D.

2.

0,29A.

0,86B.

0,67C.

0,38D.

A box contains 5 blue balls, numbered from 1 to 5, and 4 yellow balls,
numbered from 1 to 4. We take at random 2 balls from the box
simultaneously. The probability that both balls are odd-numbered is:

3.

A.

B.

1 / 5



C.

D.

4.

13,41%A.

5,73%B.

1,1%C.

2,4%D.

5.

2 / 5



5,5%A.

82676B.

22966C.

82676,4D.

In a yard, there are 64 white, black and grey rabbits. Blacks are twice as
many as whites. The average age of all rabbits is 1,2 years. The average
age of white rabbits is 1,1 years. The average age of black rabbits is 0,9
years, and that of grey rabbits is 1,5 years. The population of grey
rabbits is:

6.

24A.

28B.

12C.

27D.

A survey on the effects on Cypriots from the continuous flow of
immigrants to the island is to be carried out using a self-response
questionnaire. Recent surveys show that the percentage of those who are
not willing to participate in any survey is 30%. Also, 15% of the
completed questionnaires are rejected as not being filled in correctly.
What should the initial sample be for this survey so that the final number

7.

3 / 5



of correctly completed questionnaires is 1500?

14286A.

33333B.

5882C.

2521D.

8.

0,608A.

0,262B.

0,820C.

0,204D.

Two numbers are chosen simultaneously, at random, from the set A={1,
2, 3, 4, 5}. What is the probability that the product of these numbers
increased by 1 is divisible by 3 and not by 2?

9.

A.

B.

4 / 5



C.

D.

10.

8A.

9 or 11B.

10C.

10 or 12D.

5 / 5



Statistics Competition 2023.

 Questionnaire checking

B - Lower secondary

1 - Basic knowledge test

Version: 2          Language: en

George and Mary are playing a game of backgammon. Towards the end of
the game, Mary notices that she needs a dice roll with a sum of outcomes
more than 8 to win the game. Otherwise, George will win the game. The
probability that Maria wins the game is:

1.

0,42A.

0,28B.

0,17C.

0,22D.

2.

0,71A.

0,4B.

0,84C.

0,56D.

A box contains 5 blue balls, numbered from 1 to 5, and 4 yellow balls,
numbered from 1 to 4. We take at random 2 balls from the box
simultaneously. The probability that both balls are even-numbered is:

3.

A.

B.

1 / 5



C.

D.

4.

13,41%A.

5,73%B.

1,1%C.

2,4%D.

5.

2 / 5



35597A.

128148B.

8,5%C.

128148,4D.

In a yard, there are 64 white, black and grey rabbits. Blacks are twice as
many as whites. The average age of all rabbits is 1,2 years. The average
age of white rabbits is 1,1 years. The average age of black rabbits is 0,9
years, and that of grey rabbits is 1,5 years. The population of white
rabbits is:

6.

27A.

24B.

28C.

12D.

A survey on the effects on Cypriots from the continuous flow of
immigrants to the island is to be carried out using a self-response
questionnaire. Recent surveys show that the percentage of those who are
willing to participate in any survey is 70%. Also, 15% of the completed
questionnaires are rejected as not being filled in correctly. What should

7.

3 / 5



the initial sample be for this survey so that the final number of correctly
completed questionnaires is 1500?

14286A.

33333B.

2521C.

5882D.

8.

0,237A.

0,277B.

0,069C.

0,555D.

Two numbers are chosen simultaneously, at random, from the set A={1,
2, 3, 4, 5}. What is the probability that the product of these numbers
increased by 1 is divisible by 2 and not by 3?

9.

A.

B.

C.

4 / 5



D.

10.

8A.

10B.

8 or 9C.

8 or 10D.

5 / 5



Statistics Competition 2023.

 Questionnaire checking

B - Lower secondary

1 - Basic knowledge test

Version: 3          Language: en

George and Mary are playing a game of backgammon. Towards the end of
the game, Mary notices that she needs a dice roll with a sum of outcomes
more than 6 to win the game. Otherwise, George will win the game. The
probability that Maria wins the game is:

1.

0,33A.

0,75B.

0,58C.

0,67D.

2.

0,66A.

0,33B.

0,76C.

0,44D.

A box contains 5 blue balls, numbered from 1 to 5, and 5 yellow balls,
numbered from 1 to 5. We take at random 2 balls from the box
simultaneously. The probability that both balls are odd-numbered is:

3.

A.

B.

1 / 5



C.

D.

4.

14,93%A.

8,96%B.

3,0%C.

1,9%D.

5.

2 / 5



78542,6A.

78543B.

5,4%C.

21817D.

In a yard, there are 64 white, black and grey rabbits. Blacks are twice as
many as whites. The average age of all rabbits is 1,2 years. The average
age of white rabbits is 1,1 years. The average age of black rabbits is 0,9
years, and that of grey rabbits is 1,5 years. The population of black
rabbits is:

6.

28A.

12B.

24C.

27D.

A survey on the effects on Cypriots from the continuous flow of
immigrants to the island is to be carried out using a self-response
questionnaire. Recent surveys show that the percentage of those who are
not willing to participate in any survey is 30%. Also, 85% of the
completed questionnaires are valid. What should the initial sample be for
this survey so that the final number of correctly completed

7.

3 / 5



questionnaires is 1500?

2521A.

14286B.

33333C.

5882D.

8.

0,453A.

0,095B.

0,326C.

0,552D.

Two numbers are chosen simultaneously, at random, from the set A={1,
2, 3, 4, 5}. What is the probability that the product of these numbers
multiplied by 2 is divisible by 2 and not by 3?

9.

A.

B.

C.

4 / 5



D.

10.

11 or 12A.

10B.

12C.

10 or 12D.

5 / 5


